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QUESTION 1

Click the Exhibit button.

cluster::> storage failover show

Takeover State Description

Nods Partner Possikles
cluster—01 cluster-02 true Connected to cluster—02
cluster-02 cluster-01 true Connected to cluster-01, Giveback of one or

more SFO aggregates failed

cluster::> storage failover show—giveback

ParlLner
Node Aggregate Giveback Status
cluster-01
No aggregates to give back
cluster-02
CFO Done
Aggregates Failed: Operation was vetoed by lock manager. Check
aggrl the event log

cluster::> event log show

Wed Apr 30 14:48:20 CST [cluster—-02: cf giveback:

1lmgr.gk.nonCA. locks.exist:error]: Could not complete giveback because of non-
CA locks on volume medizfvserver:&6cl028dbh-8196-11e3—24dd-123473563421

Wed Apr 30 14:48:20 CST [cluster—02: cI giveback:

sfo.serdhome. subsystemfbort:error] : The giveback operation of ‘aggrl’ was
aborted by ‘lock manager'.

You are attempting a storage giveback, but the process does not finish successfully. Referring to the exhibit, what is the
problem?

A. An aggregate has failed.

B. There are active CIFS or NFSv4 connections.
C. Node cluster-02 was not ready for giveback.

D. The giveback failed on the node root aggregate.

Correct Answer: D

QUESTION 2

A FAS8200 system fails to boot because of a corrupted image on the boot media. Which action would be performed to
solve this problem?
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A. Copy the boot image from the root volume of the node.

B. Download a network image using the netboot procedure.

C. Use the boot_recovery command from the LOADER prompt.
D. Execute the boot_primary command at the loader.

Correct Answer: D

Reference: https://library.netapp.com/ecmdocs/ECMM1278407/html/sysadmin/GUID-7B9B378A-00014430-A82D-1382
E9A570C5.html

QUESTION 3

After replacing a failed disk, the disk does not appear as a spare on any node in the cluster.
What should be done to correct this problem?

A. Physically remove the disk and re-seat it firmly in the storage bay.

B. Physically remove and re-seat each IOM in the shelf, one at a time.

C. Assign ownership of the replaced disk to a node.

D. Add the disk into an aggregate on either node.

Correct Answer: C

QUESTION 4

A customer explains that the Active 1Q section of the NetApp Support site indicates that their controller has not called
home within the past three months. They are not using a mail host to deliver AutoSupport notifications. When
troubleshooting the AutoSupport message, you enter the event log show messagename asup.post* command.

In this scenario, what would you expect to see on the console?

A. event-management system (EMS) events for the AutoSupport system that are related to SMTP

B. a history of all error events related to the AutoSupport system

C. event-management system (EMS) events for the AutoSupport system that are related to HTTP/HTTPS

D. event-management (EMS) events for the AutoSupport system that are related to any protocol

Correct Answer: A

QUESTION 5

You have a vSphere Essentials Plus environment configured with NetApp LUNs for datastores. You are backing up the
environment using the SnapCenter Plug-in for VMware vSphere. However, you are having problems performing restore
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operations using SnapCenter.

What is a reason for this problem?

A. NetApp Virtual Storage Console is required for restore operations.

B. Only NFS datastores are supported with SnapCenter.

C. A Windows-based vCenter Server is required.

D. VMware Storage vMotion is not licensed.

Correct Answer: D

Reference: http://docs.netapp.com/ocsc-40/index.jsp?topic=%2Fcom.netapp.doc.ocsc-dpg-vm%2FGUID

49D66AC0-F012-4993-80BD-8F3353F80220.html
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